IELTS - ACADEMIC TEST
WRITING PART 1

SAMPLE ANSWER

This is an answer written by a candidate who achieved a Band 6 score. Here is the
examiner's comment:

The answer addresses the task, reporting sufficient details for the reader to be
accurately informed, even though in each chart one element is implied rather than
overtly stated. Clear comparisons are drawn between the two countries. An overview
is given, although focusing on only one age group reduces its clarity. The information
is well organised and a range of linking devices used, e.g. whereas; the latter
country. Vocabulary is adequate for the task and generally accurate, though attempts
to use less common words are less successful. A few errors occur in word formation,
e.q. statistic (statistical); estimative (estimate), but they do not affect understanding.
Simple and complex sentence forms are produced with few grammatical errors, but
the range of structures is rather restricted.

The diagrams show statistc information cegarding the ages of the habitants of
Yemen and Italy in 2000 and also a estimative for 2050

We can see that in 2000 the majortty of people in Yemen was between [ and 4
uears old, whith 50.1%, whereas in I-ra.hj mo=t of the population was between I5-

59 years od (6le%), In the same year. On the other hand, just 3.6% of people in
the former country was &0 yeals od or more in 2000, whie in the latter courtry
this figure is represented with 241%.

Tre. projections for 2050 show that the rumber of people with 15-59 years and
60 years of more wil increase in Yemen, feaching 573% and 57% cespectively. In
cordrast, in I-ra.lrj, the population with 15-99 uears will decrease to 46.1%, while
people with 60 years of more will grow to 42.5%

Ovecal, it is possible to see that there is an vpward -trend on the cates of
people. with &0 years or more In both countvies.



